
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

4th Month, 3rd Week, 2nd Day Syllabus: Unit # 8:  Change in speed and change in

direction + Do you know?

Q.No.1 Encircle the correct answer from the following choices. (1×6 = 6)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. If someone pushes the bicycle from behind the speed to bicycle.

ZZZZ¤¤¤¤////ÃÃÃÃðððð!!!!****ðððð‚‚‚‚¡¡¡¡ÃÃÃÃúúúúÐÐÐÐŠŠŠŠ....ŠŠŠŠ}}}}ÂÂÂÂ!!!!****ðððð‚‚‚‚¡¡¡¡ÅÅÅÅggggëëëëgggg''''''''''''YYYYCCCCììììXXXX

(a) Decreases Á (b) Increases (,|

(c) No effect ÃðZW,7ƒ@* (d) Very slow ¹N

2. The force exerted by the batsman on the moving ball changes its_______.

¹¹¹¹ƒƒƒƒððððtttt6666,,,,""""õõõõÐÐÐÐ••••zzzzZZZZàààà̄̄̄̄ggggkkkkZZZZkkkkÅÅÅÅ''''''''''''ppppssss™™™™CCCCììììXXXX

(a) Density e&
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(b) Shape ^

(c) Direction ‚ (d) All of these tÓx

3. The SI unit of mass is: ââââkkkk»»»»ÄÄÄÄZZZZÚÚÚÚDDDD----....$$$$ìììì::::

(a) Gram ¤/Zx (b) Kilogram ³¤/Zx (c) Milligram B¤/Zx (d) None Ãð7

4. Which of the following is a value of 'g'? ÅÅÅÅ7777ÃÃÃÃyyyyÏÏÏÏìììì???? 'g' ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐ

(a) 8 N/Kg (b) 9 N/Kg (c) 10 N/Kg (d) 12 N/Kg

5. The symbol of newton is: EEEEHHHH»»»»ÒÒÒÒìììì::::

(a) n (b) N (c) M (d) W

6. The weight (force) of 100 g mass is equal to:

ÆÆÆÆ'''',,,,ZZZZ'''',,,,ììììXXXX _______ ¤¤¤¤////ZZZZxxxxââââkkkk»»»»zzzziiiiyyyy))))¯̄̄̄ggggkkkk(((( 100

(a) 0.1 N (b) 1 N (c) 2 N (d) 3 N

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What happens when force is applied on a moving object?

ZZZZ####¹¹¹¹qqqq6666,,,,̄̄̄̄ggggkkkkÎÎÎÎððððYYYYññññÂÂÂÂHHHHƒƒƒƒ@@@@****ìììì????

(ii) A student covers 80m in 8s. Calculate its average speed.

Zq-¤̈DMJ²~ZÏ¢a^ð™@*ìXZkÅZz‰ê¥x™,X
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